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The figures in the margin indicate Sull marks.

' Candidates are required to give their answers in their own

words as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1.  Choose the correct alternatives for any ten of the-
. following : a 10x 1 =10
| i) If A and B are two disjoint sets thén

a) {AnB}={A}

c) AANB}={U)

d {AnBj={9¢}

by their usual meaning.
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i) Hax2- beo ou 0 then the SUm of the roots of the

cquation wil] be
3 -bla L
¢) b/a »"V.d) -c/a. .
iii) The ‘value of y for ;hich the cquation 4Y =5"Yis

satisfied is
1 b) O
none of these.

c) - -1 T _“_d)

iv) Iff(x+1)=23x-4, fhépf(—Z) is

_a). P | | \b)/ .
9 8 a4 -
-'v) The ﬁuhiber of subscts t/)fa.se:t with_nclemc;‘lts is .
'a) 2n | ‘9/2,,
j- ¢ 2n-1 g d) 2n;.].-7 -
i ‘.’i)_ Th'(-? mean propor?ié;l b‘:tween psq‘an;d pqs_ ls
. - _ |

* %-1206/1(N)
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Vi) MsetA:{1,2 3412 dsetB: (3458 12},

then AUB s
&) (1,2,3,4,3,45812)
b) {112’ 3’ 4: 5’ 8’12}

g~{3,4)

viii) The value of "fl Cril 1
. _ | | :
a) ncr+n-+lcr - by n Cr,;1+n-+]cr
cg "Cp+"Crn y‘c,+"'*‘c,_l.
ix) The value of (gi) is equal to
| a), 3 . b)) 21
0 27 . 4. o
| x) The sum of the ﬁrst‘_ri”tc'rms of an A.P. serics
{ 1;_'2: 3) 4: 5: 6; 71 ---1.-,in.'} iS
¢ n(n+1)/2 g n(n-1)/2.
*%.1206/ 1(N) | 3 - lTuljn over
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1) The co

“Ordingg, of the middle point of the line

Joinj -
ing the Poins (2, -3) and (4 1)is
. | o
) (2,2 . b) (3,-1).
c)

(2,—~2) | d (3 1)

Xii o -
) The distance between the two points ( -2, 5 ) and

(2 2}is
a) 1 b 2 °
5 4 25

GROUP - B
( Short Answer Type Questions ) |
An§wer any three of the following. 3'x5=15

A \Q/Find the square root of 29 + 12@.

3

; 3. If the roots.of the equaﬁdn X2~ 4x+3 =0 are o,f3 then
find the equation whose roots ér 2 2

o

F Iff(x"'3)_2x2 3x - lf'ndf(x+1)

ﬂ | Hence find f( 0)

* %-120671(N) -4

PATOETRGRTUEION I can Y 1
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Scanned with CamScanner



DA )
CS/BBA/BsCM(N)/ODD/ SEM-1/BBAN-102/2019-20
In how many ways the 1€ters of \he word TECHNICAL.

can be arranged so that the vowels will never bc _

sc Parated

/Fmd the sum of 6 + 66 + 666 + 6666 + ..... up to nth-
- term, - -

GROUP - C
( Long Answer Type Questions )
Answer any three of the- following. 3 x 15 = 45

a) _If the dlstancc between the points P ( -3, 3 ) a‘.‘d ‘

Q(4, K)be 542 units, find the co-ordinate of Q.

b) In a class of 50 students, 15 read cconomics,
22 read statistics and 20 read mathematics, 3 read'«‘
_both cc;)némiCs ahd étatistic-s, 6 read statistics a-nd_- - |
- mathematics and .5 read cconomiés "and

mathematics. 4 read none of the subjects. How - |

.many students read all the subjects ?

CL- Solve for x: 1/4x-~9 + mzs +J.7 545y 5

*%-1206/1(N) S L | Turn over -

Scanned with CamScanner



1/BBAN- 102/2019 .20

\)/' Iff(x 2 :
| )= x =1 J
o ‘ ' +1 » fing f{f( )}
: @/If (a2+b2

C,b/ . »
| BBA/B&(.M(N)/ODD/S
SEM

. :  rny? . shoW
| +c2) (x2+y2+22) = (a_x+by+CZ) ) ’S |
thay X ‘Yz '
a b~ c .
C) ‘ Il] a . .
. Cricket teap, of 14 playch, there arc 6 bowlers.
; How
| - rnany different teams of 11 playcrs can bC
I (.d taking ¢ least 4 bowlcrs in the tcam ?
9..‘ a) .

Prove
| l.hat 5+«/13 is not a ratlonal number.

F 13
\)/ find the area of thc triangle whose VLl‘llCCS are
4(0,0), 8(0,5),c(5,0).

c). W |
\)/ ithout using Venn Diagram prove that for any
three.sets A, B, C

"-(Buc)-(A B)n(A C) 6+'3 +5'.

10. ‘a)  Solve for x when 4’“’2 22x+3 +2
b) - A man can buy a ﬂat for Ra ] OO ,000 cash .
or
Rs. 50, 000 down and Rs. 60,000 at the end of ope’
one

ycar 1Ir moncy is worth 10/0 pcr year compound d
nde

half yearly, which plan should be c.hose

c) The sumupton terms of an A P. is nz Find |

' _ ‘ind the

common dxffcrcncc Whlch terrn is 57 9 S *
‘ 34+ 5

& %-1206/1(N) | 6
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11. a) Ifx= log, be, y = logp €4, 2z = log. ab

PTove that ! S

e e o
x+1 y+1 2z+1
| b . ) . . . ) ’- a .
) A train s going at 1/3 of its usual spced and ﬂ"
takes an extra 30 minutes to reach its destination. -
F Ind its usual time to cover the same distancc.j

| c) I X2 - 6x + g = 0 has two roots a, P anC}'

3o + 28 = 20, then find the \)aluc of a. 6+4+5
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